Тексты по английскому
WHAT IS ECONOMICS ALL ABOUT?

1. Первая часть
It is characteristic of any society that while wants of people are growing constantly, the economic resources required to satisfy these wants are limited and scarce. Economic resources may be classified as material resources (raw materials and capital) and labour resources (labour force and entrepreneurship). Scarcity of resources makes it necessary to save them. As a result any economic system is trying to find most effective and efficient ways of utilizing resources for the production of goods and services. The rational solution of the problem brings about the maximum economic growth, full employment, stable prices, equitable distribution of revenues, and social security of the needy.

There are different economic systems in the World today. Many economists argue that free enterprise, or the market economy is the most effective system, because businesses are free to choose whom to buy from and sell to and on what terms, and free to choose whom to compete with. How can a market economy solve what, how and for whom to produce? It is done through a market, which is a set of arrangements through which buyers and sellers make contact and do business in which choices concerning the allocation of resources and transactions among members of society involving factors of production, incomes, goods and services are left to countless independent decisions of individual consumers and producers acting on their own behalf.

2. One of the main laws of the market is the law of supply and demand. It says that if demand exceeds supply, the price tends to rise and when supply exceeds demand the price tends to fall. Given the scarcity of resources, the market functions as a rationing device with the price mechanism as its principal instrument. In free markets, prices direct allocations of inputs of firms that make the most profitable use of them. The price mechanism also guides the decisions of producers concerning the composition of their output. Finally, the price mechanism also governs distribution process.
3. Вторая часть
Thus, the market mechanism brings about an allocation of resources that reflects two basic factors: consumer preferences and productions cots. The prices which play the coordinating role of the market mechanism are determined through the interaction of demand and supply. Another important force of the market is competition. On the one hand, it protected the customers-they have the right of choice and they benefit from the fact that competition keeps prices close to costs; on the other hand, it makes producers and suppliers of scarce resources utilize them economically, using most sophisticated technologies. All businesses produce goods and services and seek profits. They all compete with other businesses for inputs of labour, capital and natural resources, including foreign partners. Freedom of enterprise is not total in the market economy. Businesses are subject to laws and government regulations.

Economic machines do not always run smoothly. They are subject to a business cycle that alternates between periods of rapid expansion and periods of recession in which outputs fall and unemployment rises.

Economic environment is determined by the economic policies of the government, fiscal and monetary policies being the major factors. So, if an economic system is to perform well4 it must deal with many economic challenges.

4. Орлова. Страница 28-29. 1.3.4.

It sounds like a wonderful idea. Britain wants to be the first to sum up the state of its society and environment in a few media-friendly figures. But does it make scientific sense?

Television news may never be the same again. It might be presenting not just the weather forecast, pollen counts warnings and reports on interest rates, but also updates on the state of the countryside, air pollution levels, water quality, the health of wildlife, climate change, the rate at which we are using natural resources and even income distribution and trends in death rates by social class.

The aim is to create a complete picture of the nation's wellbeing by presenting pointers to environmental and social performance alongside economic statistics. With this in mind, the government is developing a set of 8 to 10 "sustainability indicators" to entice the public with easily digestible bites of information condensed from the original detailed scientific data. The pointers are also intended as a guide for government and local authorities. They are the first of their kind in the world and will form a centerpiece on sustainable development to be published later. They will also let ministers consider the bigger picture before making policy decisions. 

Although environmental campaign groups, academics and statisticians are broadly supportive, some experts have reservations. Will such simplified indicators be scientifically credible or meaningful? There is a danger, they warn, that they might be so crude as to pervert the message of the original data and send public and policymakers careering off in the wrong direction. To take one example, environmental groups are lobbying for the extent of hedgerows across the country to be used as the key indicator for the health of Britain's wildlife. But experts point out that this might prompt farmers to favor hedgerows at the expense of other environmental priorities, such as cutting down the use of damaging chemicals.

"What we are doing now is only quasiscientific", says Hilary Hillier, head of environmental statistics at the Department of Environment, Transport and the Regions (DETR). "Of course, there is a danger that we may miss out major impacts on the environment. But we are aiming to convey a general message that gives a balanced overall picture, not trying to produce the full story".

5. Орлова. Страница 30-31. 1.3.5.

In the near future, civil servants, scientists and representatives of pressure groups will meet for a brainstorming seminar designed to generate a short list of key indicators. However, developing them is proving slow and difficult. The expert advisory group on air quality indicators, for example, has concluded that it would be both misleading and scientifically unsound to produce a single national measure of all the pollutants pumped out annually across Britain. "In an ideal world we would produce a single aggregate figure for nitrous oxides, ozone, particulates and all the other pollutants measured at all monitoring sites across Britain throughout the year", says a member of the advisory group. "In practice, we agreed the technical difficulties would be insurmountable and the danger of misleading results too high."

The researchers are now considering using a single pollutant as a measure of national air quality, one that best reflects the contribution of all the others. Alternatively, in preference to actual pollution levels the DETR may opt for an indicator that measures the trends in industry' and lifestyle that contribute to poor air quality, such as rates of traffic growth.

The researchers have also encountered problems in trying to devise a single, accurate measure or the «tranquility and beauty of the countryside». Britain's environment minister wants this to be a key indicator because it is an issue close to the nation's heart. But the government own advisory agency is of the opinion that it would not  be feasible to measure such a subjective concept.

Not all the indicators will be so tricky. 'Wildlife health", for example, is likely to be measured in terms of farmland bird populations, an area of research where decades of scientifically rigorous data are available.

For the sustainability indicators to be newsworthy and meaningful, the government will need to improve the way it gathers environmental and social data. At present, most national environmental data lags behind by several years. Current published figures for carbon dioxide emissions, for example, date from 1999.

6. Whatever their shortcomings, there is no doubt that environmental and social indicators are here to stay. Even the sceptics generally admit that the criteria now used are inadequate measures of national wellbeing. Indeed, there is now an entire international industry aimed at devising measures of natural social wealth to complement traditional economic barometers.

7. Орлова. Страница 38-39. 1.4.3. One Way Cafe

Chuck Lock:                             
Next Friday night we will be doing the play "One Way Cafe" in a television studio where three cameras will be taping it. The tape will then be edited and shown on a Beverly Hills television station in January. We will also get to keep a copy of the tape. This station will be providing good exposure for us, as most of the film and television community of producers and directors live in Beverly Hills.

Many people came to see the play during its last weekend. They were mostly friends we invited. The theater was overflowing. During one of these nights, one of my co-stars skipped three pages of dialogue and finished a scene with lines that came later in the play.

We had no choice but to go on from there. It was an honest mistake. These things happen. Luckily, it was the kind of play that no one in the audience noticed the omission until the end when most felt, that somehow, the play didn't make very much sense.  As a final note on "One Way Cafe", the director changed the 'concept of my character. I was no longer a vampire who drinks blood. My character became a human slave of the lady vampire. So, my character's conflict was caught between my infatuation with our latest victim and my loyalty to my vampire mistress. During the play, they both reject me for each other. So, at the resolution, I chop one of them up in a juice blender. Can you guess which one? The play is   meant to be a black comedy.

What is in store for me in the near future is somewhat confusing. I acted three days last week on a film called "I'll Do Anything". It's a musical, starring Nick Nolte. I also acted in two television shows. One is a stupid cop show called "Sirens". I played a mobster who hired a witch to create civil disturbances in a neighborhood where I was running an illegal gambling operation. My character did this so the police would be busy with the witch, and thus would not have the time to bother his gambling operation.

8. Now, you can imagine a little bit what my world is like. 

9. Орлова. Страница 41-42. 1.5.1. Read And Specify Ing-Forms:

HEALTHY, WEALTHY AND WISE?
Few people in the developing world realize that the Western model of industrialization and urbanization is a highly toxic one. As they become increasingly industrialized, all countries go through a period of intense air and water pollution - as epitomized by London's stinking Thames of the 1850s and Tokyo's choking atmosphere of the 1970s. Few of them shake it off entirely. Those Western cities that are passably habitable had to make major  investments in pollution control and prevention to become so.

But when cities of developing countries attempt to imitate the Western model they mistakenly try to do it on the cheap and turn their habitat into a living hell.
As Asian cities become wealthier, they have run into serious air pollution problems. Delhi is the richest city in India, but with 2-6 million vehicles. The levels of suspended dust in its atmosphere make it the forfh most polluted city in the world. A large number of Delhi citizens now have enough money to buy one of the old, highly polluting two-stroke scooters whose technology was imported from Italy in the 1960s. With the arrival of low-cost Suzuki cars, the upper and middle-income groups are rapidly becoming car owners. And what is happening in Delhi is slowly happening in many cities across Southern Asia as national economies grow.                   
However, pollution is not inevitable. If growing wealth is the key cause, political stupidity and public indiscipline make the situation worse. Singapore avoided the urban nightmare through discipline and foresight. It became famous for its firm ruling that only odd or even number vehicles should enter the city center on specific days. Later, it even limited car ownership. Bit by bit, it also invested in an excellent public transport system. In Delhi there have been no such efforts and in the absence of an efficient transport system, everybody wants a private vehicle.

10. Орлова. Страница 17-18. 1.1.7. 
COSMIC COINCIDENCE
Why do we live in a universe with three dimensions of space and one of time? According to a Swedish physicist, it is because physics in space-times with more or less than four dimensions would not    permit the existence of observers like us.   Such universes would either be too simple, too unstable or too unpredictable.

The question of the dimensions of space-time has become important principally because of superstring theories, which picture fundamental particles as tiny pieces of "string" vibrating in space-times with up to 26 dimensions. Theorists say that all but four of those dimensions are rolled up in a strange way so that we are not aware of them.

Obviously, life as we know it could not exist in a universe with less than three space dimensions. What's more, it turns out that the mathematics of any universe with less than three space dimensions forbids the existence of gravity.

There are problems, too, for space-times with more than one time dimension. These could exist while any observer's perception of time could remain one-dimensional. However, this results in a world that is far less predictable than our own. The problem is that physics is infinitely sensitive to initial conditions so it's impossible to predict the future.

So only a universe that leaves three space dimensions and one time dimension unfolded is likely to provide the richness, predictability and stability to generate interesting structure, including life. We can't say categorically that other space times cannot contain observers. But we'd say the prospects are pretty bleak.
11. Английский для финансистов. Стр. 28-29. Ex. 18. 
The UK Economy

The UK economy has recently experienced economic growth combined with low inflation and falling unemployment. In 1997 it achieved the first surplus on the current account of the balance of payments since 1985. Nevertheless, the economy continues to face problems, such as low levels of investment and productivity, and income per head is below that of many other major industrialised nations. The Government's economic policies are directed towards the achievement of high and stable levels of growth and employment, enabling everyone to share in higher living standards and greater job opportunities. Extra resources are being allocated to priority concerns, notably health, education, public transport, and the regeneration of urban areas and housing.

The value of all goods and services produced in the economy is measured by gross domestic product (GDP). In 1997, GDP at current market prices totalled £801,972 million. Between 1987 and 1997, GDP at constant prices increased by 24%. In 1997, GDP grew by 3.5%. Growth slowed during 1998, with a slower rise in domestic demand-under the influence of tighter monetary and fiscal policy.  

Recent decades have generally seen the fastest growth in the services sector which now accounts for around two-thirds of GDP, compared with about a half in 1950. Oil and gas production has had a major impact on the UK economy since substantial production of gas started in the late 1960s and oil began to be produced in significant quantities in 1976. Manufacturing now contributes less than a quarter of GDP, compared with over a third in 1950. The level of productivity in the UK has been lower than in many other industrialized countries. Households' final consumption expenditure in 1997 amounted to £500,616 million at current market prices.

Over the longer term, as income  rise, people tend to spend increasing proportions of their disposable income on durable goods    and  certain  services.  Spending  on  leisure pursuits  and  tourism, communications,   health   and   financial   services have   all   shown significant growth in recent years. Declining proportions are being spent on food alcoholic drink, and tobacco. 

Unemployment the UK has fallen in recent years and is below that in many other European countries. In the three months to August 1998, employment,   according   to   the   International   Labour Organisation measure, was 1.8 million, some 226,000 fewer than a year earlier and this represented 6.3% of the workforce. Employment in this period rose by around 307,000 to 27. 2 million and has now recovered to the level at the beginning of the 1990s.
12. Английский для финансистов. Стр. 26-27. Ex. 17.
In 1992 the economic situation in the Russian Federation continued to be very difficult, owing to large macroeconomic imbalances and to the unavoidable difficulties arising in the initial stages of the transition to a market economy. Nevertheless, significant progress was achieved in implementing structural adjustment policies in some areas.

Real GDP and industrial production are estimated to have dropped by 19 percent in 1992. Oil extraction fell by 15 percent, while the output of natural gas remained unchanged; agricultural output fell by 8 percent. The fall in output reflected a number of factors, including the decline in demand associated with the drop in real incomes following the liberalization of prices in January 1992; the short-run effects of the economic transformation; the interruption of traditional trade links with the countries of the former Council for Mutual Economic Assistance (CMEA) and the states of the former Soviet Union; and cutbacks in investment and military spending.

Monthly inflation rates began to decline after the jump in prices associated with price liberalization in January 1992. However, this trend was reversed around midyear and between October 1992 and March 1993, monthly inflation rates were between 20 percent and 30 percent. Between the end of 1991 and end of 1992, consumer prices increased by over 2,300 percent. The acceleration of inflation after midyear reflected a substantial loosening of financial policies. Real wages dropped sharply in connection with the liberalization of prices, but recovered somewhat in the course of the year and at year-end stood at 90 percent of their 1987 level. Registered unemployment remained low.
13. Английский для финансистов. Стр. 21-22. Ex. 12.
Economic System

The functions of an economic system may be defined as follows:

a) to match supply to the effective demand for goods and services in an efficient manner;

b) to determine what goods and services are to be produced, and in what quantities;

c)  to distribute scarce resources among the industries producing goods and services;

d)  to distribute the products of industry among members of the community;

e)  to provide for maintenance and expansion of fixed capital

investment;

f) to fully utilize the resources of society.

Depending on how decisions are made and how the above functions are fulfilled different economic systems can be singled out. Many countries like Britain, Sweden, and France operate a mixed system (mixed economy) splitting the economy into public and private sectors.

In Britain, for example, about two-thirds of the economy and about five-sixths of commerce is conducted by private firms. The remainder of the activities of the economy are conducted by socially-owned enterprises. Some, like the Army, Navy, and Air Force, are clearly the sort of institutions that the state itself should control. Others have tended to be performed by the state because they are non-profitmaking, and as such are unlikely to be attractive- to businessmen. Such activities as education and medical care are best operated as socially provided amenities for the benefit of all citizens.

In the commercial field certain goods and services are by their nature monopolies. Among these natural monopolies are gas, electricity, and water supply. The capital costs of such enterprises are too great for competition to be possible.

Transport is another natural monopoly. It would be uneconomic to run two railway lines from one place to another, or two different sets of half-empty buses along a country road.

These natural monopolies have, for economic, political, or social reasons, come to be run in the United Kingdom by nationalized institutions, or the municipal authorities, who provide the services required at reasonable prices.

